W EARA . 300677 EHEH: ZEAES INER S 2025-106
AR 123029 AR E MR AR

FAET RSB A RA

KT 2025 £ IR |t B R W g i R E K& T H oA
TREE “FERER” ERMBRAE

AR REZFL2ERRARILEERENNERL EH, TE,
KA ERIDHE. R ERRSE AR,

AR

IEHRA: 300677 B ER”ET
KA 123029 A AR AR AR
R RN ART 3.26 T/
BEEERNME: ART 342 T/
MR A 2025 7 A 22 H
AR V] B A RN A T R RS R E T

— XTHEHRLAFARFHRBN B RBHAERAZ

FEAETHB R A RASELTER “N8” DATTRATT 470
TR N E s (Rrfik: ERER, faRE: 123029 i
T 201949 A 10 B b, R4 CLRER E7 A &R AH R E 4
WRATFRATA e N Bl i R HAL) RFEIEFREEEZR
~ARTHEE NI RARATHAEAAR, L0 ZERERERF.




1 IR AR 3 R T R (T L 48 [B AR K AT B P B A % R T 48 A g IR A
B AR LR IR & B R R B A, A B K i B S AL R B IR T,
WA RN HATRREE (RENKAEHM, RE—ULNEE
N, BAREEAE AT

IR R A Bk B A P1=PO/ (1+n) ;

W% H R E A Pl= (PO+AxK) / (1+4k) ;

FRFEIE B HAT: Pl= (PO+AXK) / (14+n+k) ;

k& A ek Al: P1=P0-D;

FR=FE B #HAT: Pl= (PO-D+Axk) / (1+n+k)

He: Pl AEEE®RMN, PO HEEWERN, n A ZRER
BHERBEARE, K NZREEFTRERMBEE, A A ZRELFR
MBI, D A ZKERIKZI S RA.

L a5 WAL R B A/ SR R A R R A, RROR HEAT B R
BV, FEE#HFINM (www.eninfo.com.en) b FIEA XN &, 5
TAEFHALRNEEHED ., AELERGEHRHAR (0F) .
L RN E N ARKATH I SRR AR EHRZE, %
o B BT B Z 8T, Wz A s I o i 3% 5] R 3 G B 8 IR A

BB T RER AR B, Bl A5, 4 L SR AR
BB R A BE A/ BB A 3 A KT T RE R P AR AT Y
] R R B BUAX AR A 3k AT A RE B, A B AL AR LR R
/NS SN/ NSNS W=e ) SNV & o s S o AN R U



RN AL o A RS IRV AR RAE A KK IE L B KA K&
HEA B W8 TT R AR KA R FT

=, BRMERERERER

ANE B EF ENEFFIDE EA R AL R 50 5 A TR
PRI R ER T RID, HARSIEREST 2025 467 A 22 € L7,
AR T IR B R EHIDHKE N 1,28021 A, & A% G EITH
OBl 2025 7 A 14 HERA 641,832,807 fRHT 1.9946% ., AR E
TR G, N E A d 641,832,807 X3 n E 654,634,907 ft. £
R 2 A B TR H & B #1 %P (www.cninfo.com.cn) b 3% 5 B
(KT 5] 2025 4 IR #) M B2 R it X 8 k3% T 30 B0 R B
R R | SE R4 ) AR 35 7 1 B 1% B9 /A 48 ) (AN 45 47 5 2025-105) .

RAE L R EIT A & B A PR B 6 e AR A TE R AT 7T S5 4
A AEERAE) KATERURFTEERA REEREEZR 2 X T4
BN ERALATHERAE, “ERER WHERNMEAELT.

P0=3.26 7T/

A=11.30 7T/f&

k =12,802,100/641,832,807~1.9946%

Pl= (PO+A Xk) / (1+k)

= (3.26+11.30%1.9946%) / (1+1.9946%)

=3.4172297 7T/ &

~3.42 o/l (IR & AN

b, “FEMEG7 s RNEREN 3.42 T/, AEEHRE
B 2025 47 A 22 HAE AL



/A=

T BT RO A TR F
% F o

2025 47 A 18 H



